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109 II

Part - 11
SANSKRIT, Paper-I

(Second Language)

Time : 3 Hours] [Max. Marks : 100

Note :

(1) All questions should be attempted.

(i1) Question Nos. 1, 2, 3 and 14 should be answered in the medium
of instruction of the candidate.

(iii) The remaining questions should be answered in Sanskrit
(Devanagari Script) only.

(iv) The bits of a question should be attempted together.
G) 9 9w FEEEe: |

ii-iil) wem, fdh, qiE-sTE, IR @ fEw o= e aepaET
(Fgamiefere yomyTas: | '

(iv) TYAT: SEAOAE FHTHTAET: |

1. vl e e o |  1x6=6
@) T oo ER:Or el |

2. U TEuwyE gy | ' 1x6=6
() R 3 TeTTIT ERY Ha foed |
(1) mamﬂfﬁm:m:ﬂggm—ﬁ%m: 7

3. e Teruwe gwm | | 1x6=6
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agoTt SeAT gETE foraa |

31  3vedvme i sty afx 2

(3 wew S SO e ada 2
® -t SEETETY ®: 7
@) FHIore 37 T gEeT ¥4 foh pag: ¢
@ Teeta: Tommt Tee & gEar 7

A TE = foe |

@) fedisafufa geanss aomTREd T |
(M) = mfasafy gaa faaq |

@) wafa ahATNSEE! Jaeay ?
@) I 7 9 va |

o gE= e foraa |

(@) Tl TR | L

(3 $a = TRG = et WA goa |
() O ST AT FEeEd |

@) WA THaEe |

FETOT TYATHT SETET o |
(3) TETEIAIR GIRY: HH I 7
(3 FHITETE - HEThe: HIA H ?
®) e i foee ?

E) TFCT: HHRI: Hid 2 AT S ?
@) UFHTUTYSHEE HT ?

(&) 3Iyar H: & Faar ?

[20f4]

4x2=8

2x3=6

2x3=6

3x2=6
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10.

b

12

13.

T ST SR forEe |
(@) HgreTes: weEm T e 7
(M) JFAGATH ofea Wi Fohere o g ?
3 AR e a7
@) AT HF T ?
() ST WM R H1 g ?
(&) WA H ?
93 /gt frad wfe oo forea |

e
e anerfe e |
. e whnfreETT v |
@ ™ 3 W
(3) @ @)
A urgEai fored |
@) sty @ s
(@m udq @ v
Hftr affmmiidegEss fraea |
@) g @) IR
(@) . @
3 UThH: &) wisf
Hfor afRFmRR IS T |
(31) TH + FT: @) g +
(3m f&a + suew: @ ®+T
3 fe=z + 3ftway @) TN +am

[3of4]

3x2=6

1x56=5

2x6=12

2x3=6

3x2=86

3x2=6
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14,

15.

16.

RIS ST ST 91 a6 |
(37) 378 U T |

(31 Hid 3= ey |

() a9t ufesm: |

(8) SO IO |

@) R U e fagH v o

Wb YA THTH |

(31) CIRY: T T F=T ?

@m FrarEg: 3fa e e w=iea: 2
®) w6 7

@ FomE: ®: ?

@ gEifa: fagm: % 7

T Y THIY |
(31) TR HT ?
(3T) I G &: ?

3 W:%’?? .
@ efEE=R F i quasn ?

(@) JUE HHATRY ?

[40f4]

bx1=5

Bx1=5

Ax1=5H
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